Name Date Answer Key

Divisibility Rules: Dividing by 6
A number is divisible by 6 if it is divisible by 2 and 3:

e A number is divisible by 2 if its last digit is O, 2, 4, 6, or 8.
e A number is divisible by 3 if the sum of its digits is divisible by 3.

234 580

234 is divisible by 2 and 3. 580 is divisible by 2, but it is not
divisible by 3.
So, 234 is divisible by 6. So, 580 is not divisible by 6.
(Circle the numbers that are divisible by 6. \

26 83
(258) 375
489 514 (684)
731 39
19156 25,093
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